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(1) The graph above might represent the

(2) On the graph above, the constant value 1.43 is

(3) Inthe Solow growth model of an economy with population growth but no

technological change, if population grows at rate », then
(3.1) output grows at rate and

(3.2) output per workers grows at rate

(4) An economy has the per-worker production functiony, = 6k,*, where y; is
output per worker and %, 1s capital-labor ratio. The depreciation rate 1s 0.1, the

population growth rate is 0.02, and the saving rate 1s 0.4.
(4.1 ) The steady-state value of the capital-labor ratio is

(4.2 ) The steady-state value of output per worker is
(4.3) The Golden-Rule capital-labor ratio is

(4.4 ) The Golden-Rule consumption per worker is
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(5) quantity theory of money

(6) consumption smoothing
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L.ucas:

“If the government builds a bridge, and then the Fed prints up some
money to pay the bridge builders, that’s just a monetary policy. We don’t
need the bridge to do that. We can print up the same amount of money and

buy anything with 1t. So, the only part of the stimulus package that’s

stimulating 1s the monetary part.

- But, 1f we do build the bridge by taking tax money away from somebody

else, and using that to pay the bridge builder — the guys who work on the
bridge — then 1t’s just a wash. It has no first-starter effect. There’s no
reason to expect any stimulation. And, in some sense, there’s nothing to
apply a multiplier to. You apply a multiplier to the bridge builders, then
you’ve got to apply the same multiplier with a minus sign to the people
you taxed to build the bridge. And then taxing them later 1sn’t going to
help, we know that.”

Krugman: “Suppose that the family takes out a $100,000 home loan (I know, it’s

hard to find houses that cheap, but I just want a round number). If the
house is newly built, that’s $100,000 of spending that takes place in the

economy. But the family has also taken on debt, and will presumably

spend less because 1t knows that it has to pay off that debt.
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But the debt won’t be paid off all at once — and there’s no reason to
expect the family to cut its spending right now by $100,000. Its annual
mortgage payment will be something like $6,000, so maybe you would

expect a fall in spending by $6000; that offsets only a small fraction of the
debt-financed purchase.”
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